Delhi Police [Constable]

Previous Year Paper

Section : Part A- General Knowledge or Current Affairs

QIAs psrpéetheioniBn dyrid2A 20 2Gighioh ibktfe follngitaxesxdkeshhedreeh dtstlistted?
s Di%nd distribution tax
2.Long t?@ capital gains tax on securities

3. Securip'qs transaction tax

4. Corpoxe tax

Question ID :4244291299 849
Status :Not Answered
Chosen Option :—

Q2ZTHehmiTichsiseththidtdie mthihd butdetitineob fthieel iirggaarc momiiing wonld are called:
Ans1. fpgi
2. algaex
3. bactep(
4. virusv

Question ID :4244291260 860
Status :Not Answered
Chosen Option i~

Q3WnNitdtichf diietfe follondnyricticdef difieH2oDshistitioticf didializpotaitainberdirdictivtitbahthehe
State Shatie stedie prskdgieovision dtermititentief telief?

Ans1. Api@e 40

2. Articlﬁ@
3. Articlvﬁ
4. Articl?{"l

Question ID :4244291297857
Status :Not Answered
Chosen Option i~




QAWhich olfieHe follomdngritetiad e tiielzoDotisttioticr tfdiadia ghdtitbitb¢Hediadidt Skafecirom
confegdrderring deyetitiepéecapliamititagasteaoadaistio diistiiction?

Ans1.APi(:'Ie15

2. Articl?{'o
3. ArticlVE )
4. Articl?@U

Question ID :4244294294854
Status :Not Answered
Chosen Option i~

Q.5Witlithvvidlichfofthédibdloming stttesds et ieaatesiform W' traditionally associated?
Ans1. K@éla

2. Madh#’bradesh

3. Assafp("
4, Karnaxka

Question ID :42442941293835
Status :Not Answered
Chosen Option i~

Q.GAtAvanD3asy who aas awateddh e\ onaMveadd?222), s a profiessional player of:
Ans1. wpsstling

2. baské}l{éll
3. archevi

4, badmNon

Question ID :4244294297837
Status :Not Answered
Chosen Option :—~

Q.7Whittichf ahthédlbdleinin g boloksweascoohdereedt el iitanedtiored| Bodiar Prize 2020?
Ans1. T@iscomfort of Evening

2. The EPI(thenment of the Greengage Tree

3. HurriWe Season

4. Tyll x

Question ID :4244291845
Status :Answered\nswered
Chosen Option : 11




Q 8V hranaongri ¢tfe follondngasaappuiederb db ¢Hehtivpiepevscf éfdkthdspGobumithétemon
CorpoCaigp tratdvenaivéesyl Résolatidn snddatiardatisrepedoedsria J0R822020?

Ans1 .KWr Mangalam Birla

2.NandaNViIekani

3.AnandNahindra

4.Uday I@’ak

Question ID :424429%293 853
Status :Not Answered
Chosen Option i~

QIWNHichf dfithéoltdloining tstete sl deeNU0 Tsblaaeel itsthmrtier willh West Bengal?

ARs 1 .Malaya
2. Assaif’
3.Jharkfﬁd
4.Sikkin?(|'

Question ID :4244291867
Status :Answered\nswered
Chosen Option : 11

Q.10\Whaamogg ke 6t hovinnglasstisesnssdbedt tet ffor tthe 2020 World Food Prize?
Ams] Sin N Groot

2.Rattanw

3.Lawrew Haddad
4.MS SV\Winathan

Question ID :42442941292842
Status :Not Answered
Chosen Option :—~

Q.11AAppettheaevinocomaédaxaegimeanaouceddinithé/UnioB Bddge? 2020 thédaxattddor
taxableailsieninbetmnebe ik 5dakh Idakh hiskhdeasrbdeneddaced to:

Als'l.'l%
2.5% x
3.10% J
4.20% x

Question ID :4244291848
Status :Answereghnswered
Chosen Option : 22




Q.12WWvisiclo b thédidtioiniogrnddes bapprddaiitionsis aaied d subpy speiciidicd ¢ eidlshthiat
prolifepaiiferatake taede nargb eiailssils? cells?

Ams .La?{ring

2.Fissiorp(|'

3. Fragnﬁtation

4, Reger@tion

Question ID :42442941203865
Status :Not Answered
Chosen Option i~

Q.13W\WWisicro6fhkef fdithoviggocoumitideschimes tamiis phayer Alexander Zverev represent?
Ars1 .Svﬁerland

2.Germav
3.The U%’
4, Franc?{'

Question ID :4244291293 838
Status :Not Answered
Chosen Option i~

Q.14VWhicrob fhiref ftithovirngrneessteess Zamicar a5 ane of its tributaries?
ARs1.Yguna

2.Gangax
3. Indus J
4 .Beas x

Question ID :4244294291871
Status :Not Answered
Chosen Option :—~

Q.15Thhd famoashilillsstattonmeamest Widkodigajj is located in:
Aws 1 Lgpkh

2.West Wgal

3. Uttara’l:[énd

4.HimacVPradesh

Question ID :4244291868
Status :Answered\nswered
Chosen Option :3




Q.16AApeetith€crnsus Dindidi2 201, wiviticlo bl thédiddioivia ) bivio Feititoeess sdeast dessiyly
populgiepulstedrapaemhpdtedhwitiihise buiserieat onedtioribd felthefoll ontignsptions?

AI!SLC!Wdigarh
2.Puducp(r'ry
3.Andanvf& Nicobar Islands

4. Lakshxweep

Question ID :4244291869
Status :Answered\nswered
Chosen Option :4

Q.17Innltbé/UnioB Bddge? 2020 th & Fiaane diisisteaannonced dithd ke bb bakkl depsisiriasuranee
from _from to %5 lak&5 lakh.

s 21 4gfh
2.3 lakipq”
334 lakipq”
432 lakipg”

Question ID :4244291850
Status :Answered\nswered
Chosen Option :4

Q.18Inr22P2 0 thggosemmraenbd biviiticlo b thédibtiowio g sitee énisistitiee G 8 \R Riaj & Waatd dor
sportsgsostypetsons?
Ams .TéNﬁg ana

2.Andhr?l{radesh

3. Maha?ghtra
4, Keralaqi

Question ID :42442941293 843
Status :Not Answered
Chosen Option i~

Q.19ThaepaitteAhbdasS8ameds heer eerovmeednpainieeradfl feam, e o indiia on the invitation of:
Ans .Ja')lﬁ'ngir

2. Auraneeb

3. Humaw

4, Akbarx

Question ID :4244294293878
Status :Not Answered
Chosen Option i~




Q.20V\\Whdsisitheaatithoobt hieebodkt tikbed FROAW: A\ HH sty «ff Indie's Covert Operations'?
s . BipVachharajani

2. Neena}f{éi
3. Yatisvdav

4, Nirupﬁ'a Yadav

Question ID :4244291294 844
Status :Not Answered
Chosen Option i~

Q.21 Theaitibbakboifitcvedlieedsta fiugl is expressed as:
aws!. psp
2. microx’
3. mmH@(
4. kJ/kg ol

Question ID :4244291861
Status :Answereghnswered
Chosen Option :3

Q.22Irrrddiat hhecosstoidianod fiforignexatiengye resomes of the country is:
Amsi. Upén Cabinet

2. Reser%ank of India
3. State ﬁhk of India

4, Unionﬁﬁance Ministry

Question ID :4244291846
Status :Answered\nswered
Chosen Option :4

Q.23Iiwisiclobittaddidtiowigg sibiyypessisthe popdition bi fine paitielesalelitalyligigtrettdrahigig
particlgatticles?

Ams] . SWy soil
2. Clayewn

3. BIack?{ﬂ

4. LoamW)iI

Question ID :4244291202862
Status :Not Answered
Chosen Option i~




Q.24 ninwvhicrob t hleef Gtidoviningss tdessaarettie Banalbara Caves located?
A G erat

2. Bihar ,f

3. Math('Pradesh

4, Mahaﬁhtra

Question ID :4244291830
Status :Answered\nswered
Chosen Option :4

Q.25TTilB31A4ggas 2020} ikeemumitse roff oot bxpeesson fs aaveaartiet tthe Bivnzt Ratna was:
ARS] . fox

2.two x
3. threex
4. one !

Question ID :4244291841
Status :Answereghnswered
Chosen Option : 11

Q.26 Who among the following was the author of the ancient text called 'Siddhant Shiromani'?

Ansx

Q.26Who.gmong the following was the author of the ancient text called 'Siddhant Shiromani'?

Ans1. Aryabhatta
2. Mahaviracharya

3. Brahmagupta

. Bhaskaracharya Question ID :42442942971877
Status :Not Answered
Chosen Option i~

Q.27VWisictobfthe d0liowing $ssapposesindiiges g eerzzyneettiedtis Seoeted i the small intestine?
Aws| Tryghin

2. Lipas@(

3. Pepsi?{

4. Bile x

Question ID :42442941263863
Status :Not Answered
Chosen Option i~




Q.28Wisiclo bfi thédfibdiowigd\ Aiticles bt th € Goststitition binkiidia ppeifife thih e gight biininmtitie soto

establigdtabriishdminirintintiientidoehtishialiienisitions?
Ans] . AWe 29

2. Articlw
3. Articl%
4. Articl@

Question ID :42442941294856
Status :Not Answered
Chosen Option i~

Q.29\\Wisicro bt ikef Gdilbovirggi $stte kngrest river of Odisha?
RS . Gt?l{a'vari

2. Tapi x
3. Krishr?("
4. Maha@i

Question ID :4244291870
Status :Answered\nswered
Chosen Option :4

Q.30AAUBDPpe? 2020 Ididiam BipseRRbham Bppanappamedwiith _____ fdoitthdide’'dDollses

eventsvents.
Ams| . D@ Shapovalov

2. Mate Wic
3. Bruno?gares

4, Sumirﬁgpal

Question ID :42442941299839
Status :Not Answered
Chosen Option i~

Q.31 Toowhibhod it el fdldoviimygdjyress tées diit tthe nuller Gautamiputra Satkarni belong?
Ams|. Chx(ukya

2. PaIIav?(
3. Shakax
4. Satavvna

Question ID :4244291874
Status :Answereghnswered
Chosen Option :4




Q.32V\Wisiclo bftthé dbtiowigg < kecaalibestesttarorTitaimirgtthe Sidices thit were put to music?
Ansl S# Veda

2. SangeKRatnakar
3. Meghﬁita

4, Kama?(fra

Question ID :4244291832
Status :Answered\nswered
Chosen Option : 11

Q.33Thad dtHissongsvaanesd FRarkthita' traditiionally belong to:
AR R#than

2. Chhatp{Qarh

3. Odish?(
4, Kashr‘?{

Question ID :424429%1294834
Status :Not Answered
Chosen Option =

Q.3ﬁ;/\Whmmnogglthédevigg>mppouddédlth@bMBeDbh%ﬂAbtaag@ikmalgh(mheEEiQtMﬂd
Path)Path)?

A Srﬁkaracharya
2. Mahap{"Swami

3. RamaMa

4, Gauta%uddha

Question ID :424429%1292872
Status :Not Answered
Chosen Option :—~

Q.35AA®013 3 \Aggas?2020Mvh@amoggithédiddiowiggwashd/dernbel Sexattgry bf thé Econoritic
Advisqudvisoryotidaribi fo the PMinietkiihister?

Ams] . Biﬁk Debroy

2. Ashin?@oyal
3. Ratan@\latal

4. Sajjid Wnoy

Question ID :4244291847
Status :Answereghnswered
Chosen Option : 11




Q.36V\Wisiclo b thédibdiowig g ititie h ha s ar sistoooriticab bbesraiorg cosistrucd d ndedetthe
patronggiecifagavefiS@naing Bingh?

sV agdhiasi
2. Praya?@'j
3. Agra x
4. BharaWr

Question ID :424429429%3833
Status :Not Answered
Chosen Option i~

Q.37Inmehibhob t leef Edlidoviimgsstates are Daffa Hillls mainly spread?
Ams|. Oha

2. Jharde

3. Arunaﬁl Pradesh

4. West wgal

Question ID :4244291866
Status :Answered\nswered
Chosen Option :3

Q.38Innthé/UinioB Bddge? 2020 thé Finane Mitisistep misictte drthialnididiahfiarmes' shinoorm e/walald

doublejbubitetyettie year:

s 208
2.2025 %
3.2023 %
4.2024 %

Question ID :4244291851
Status :Answered\nswered
Chosen Option :22

Q.39Inmivhiblygeamvaast bieeNRth Butestibe atithat im the Constitution of India?

aws1. 199G
2.1953 X
3.1951 off
4.1952 %

Question ID :4244291855
Status :Answereghnswered
Chosen Option : 22




Q.40 ninwvhsichpparvd Aabhiskaseenmpieewesretits imsoriptions wittesm im Kharosthi script?
sl NW Eastern

2. Centr@(
3. South}@'

4. North ¥stern

Question ID :4244294293873
Status :Not Answered
Chosen Option i~

Q.41TThgigigatitic statee bEGatetanibBdddha] discoverddiabSlitapgani(aeaBBhggipuinim Biagr),
has bersdaied #atéé to the periodperiod.

] . Slﬁga
2. Nandap(
3. Gupta#’
4. Maur)?(:

Question ID :4244294291831
Status :Not Answered
Chosen Option i~

Q.42Irhhowmanybokks $s AddkdzariNanes, wiitttam thy Abul Fazal, divided?
Aws|. Fip

2. ThreevF
3. Two x
4. Four x

Question ID :4244291875
Status :Answereghnswered
Chosen Option :22

Q.43V\Wsiclo bfthédiddiowio g araeddreert saoth€ Cosistittition bidididsis sis oaffere daaasthe
'mini CrstiOaienitution'?

A . 38K'Amendment

2. 42nd Vendment

3. 35th Méndment

4. 40th A?(endment

Question ID :4244291859
Status :Answereghnswered
Chosen Option : 22




Q.44\\Wha amangghthédivtiowiadrididian ésikkaowridiohisiexsemiplaryg contbibutiomintthé deld bf
mathematicsiatics?

Ams] J%se

2.3 RarTthan
3.CV RaWn

4. VA Saﬁﬁhai

Question ID :4244291840
Status :Answered\nswered
Chosen Option :22

Q.45 ninvviticly yeanwasttbemnonpplylp bBBritisit Essirididi £ Gomppany ohrtrdd evitithrididid troket py
a legisidigislation?

Ao ol
2.1807
3.1858
4.1825 %

Question ID :4244294294876
Status :Not Answered
Chosen Option i~

Qatabt mhighier Brafielfondamigsiaesiciidaifs ddaighierevekernovas 4ahpRuRRAaekskRapaattan’
take plagR? place?

Agis Lun,{!’ni

2. Kushinﬁér
3. Bodh G,Ka
4. Sarnatv

Question ID :4244294299879
Status :Not Answered
Chosen Option i~

Q.47VWisictobflihe dtlowiggidesNOOTHaaee spssiidirzeti ttissie flor tihe conduction of water?
MRS GIps

2. Ipomcﬁ

3. Paphi%édilum

4. Funarwi

Question ID :4244291264864
Status :Not Answered
Chosen Option i~




Q.48V\Wiiclo b th édibdioivig gsis arnog gHth éniddsisteie s ssd ddoc aiaicialhatioghh éndebex DE Gigh€ Grare
Industpiriibtriedia? India?

A Alyﬁinium

2. Copp?("

3. Textil?{

4. Reﬂne@roducts

Question ID :424429%1292852
Status :Not Answered
Chosen Option i~

Q.49Inimwhibtobt hieef Giithoviragy peasswessAkttidte 21 imessttest i tihe Constitution of India?
Ams|. 20p6
2.2000 X
3.2004 X
4.2002 off

Question ID :4244291298 858
Status :Not Answered
Chosen Option i~

Q.50InrMAgges?2Pe0rdidiaadd ____ wesreldelderddqgointwyinaer o bftth€Bhes O8ymipid g glsld
medalmedal.

A AWaIia

2. Russiv
3. the U%
4. New Z?q’land

Question ID :42442941294836
Status :Not Answered
Chosen Option i~

Section : Part B- Reasoning

Q1T ‘Thermometer” is related to *Temperature’ in the same way as ‘Protractor” is related to *

Mms X Weight

2. “ Aﬂgje
3. /< Mass
4. /< Height

Question ID :4244291880
Status :Answered\nswered
Chosen Option : 22




Q.2 select the option that is related to figure C in the same way as figure B is related to the figure A.

(A) (B) (€

v

Ans

75 9] 560 S

Question ID :4244291891
Status :Answereg\nswered
Chosen Option :33




Q@3 Which figure will replace the question mark (?) to complete the pattern?

A

Ans
v X/

9
\

Question ID :4244291895
Status :Answered\nswered
Chosen Option : 11

Q.4 Three different positions of the same non-standard dice are shown. Which letter will be on the face opposite to the face
with the letter “T°7

Ans '}(1_

b4
W o Q

Question ID :4244291902
Status :Answereg\nswered
Chosen Option : 11




Q.5 Inthe Venn diagram given below, the ‘Rectangle’ represents *Lady Teachers’; the *Triangle® represents *Chemistry

Ans

Teachers', and the “Circle’ represents ‘Physics Teachers’. The numbers given in the diagram represents number of
persons of that particular category.

[TAN

L

21

What is the count of lady teachers who do WOT teach Physics subject?

X
o 2
X 3
?(4.

Lk
23
21

7

Question ID :4244291904
Status :Answered\nswered
Chosen Option :22

Q.6 Which figure will replace the question mark (?) in the following series?

Ans

OJIRS;

V.
Y

O 1o
oT<o

=
>4

X 2

o 3

B2y
aoTo

O L4
OT<O| 10T

Ol<| | Ol

_@:9_

Ol 10T7T¢

I
O

?

SLO

Question ID :4244291894
Status :Answered\nswered
Chosen Option :4




Q.7 Select the option that is related to the third number in the same way as the second number is related to the first number.

7259 :4154::3852:7

Ans  of 1. 4201
X 22401
X 3 2410
X 4 4210

Question ID :4244291885
Status :Answered\nswered
Chosen Option : 11

Q.8 Three different positions of the same non-standard dice are shown. Which number will be on the face opposite to the
face with the number 2°7

Ans x1_
X 2
3
r 2

b oy Lh =

Question ID :4244291901
Status :Answered\nswered
Chosen Option :33

Q9 WWhich number will replace the question mark (?) in the following series?

1,5,13, 29,72, 125, 253, 509, 1021
Ans X 1. 57

X 2 88

X3 75

v 4 6l

Question ID :4244291883
Status :Answered\nswered
Chosen Option :4




Q.10 Select the option figure in which the given figure is embedded (rotation is NOT allowed).

Ans

X
A

il

Question ID :4244291899
Status :Answered\nswered
Chosen Option :33




Q1 which figure will replace the question mark (?) to complete the pattern?

v
S

P N

w V7

Ans

v 3

p

N[RE[E

Question ID :4244291896
Status :Answered\nswered
Chosen Option :33

Q12 select the Venn diagram that best illustrates the relationship between the following classes.

Carnivore, Lion, Elephant
Ans

r 0

2

Slelels

Question ID :4244291903
Status :Answered\nswered
Chosen Option :4




Q.13 select the set in which the mimbers are related in the same way, as the numbers of the following set.

(9.6,27)

Are X 1.(7,5,13)
X2 (3,2.21)
v % (8,6, 18)
X " (6,4, 16)

Question ID :4244291886
Status :Answered\nswered
Chosen Option :22

Q.14 Inacode language, PARROT is written as RENMUL How will CUCKOO be written in that language?
Ae 1. MGLYOV

v 2 MLGXOV

X 3 MLGYOV

X 4 MLGXQV

Question ID :4244291882
Status :Answered\nswered
Chosen Option : 22




Q15 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

X 2

o 2

Question ID :4244291898
Status :Answereg\nswered
Chosen Option :44




Q.16 Select the option figure in which the given figure is embedded (rotation is NOT allowed).

Ans \ /

53

N/

Question ID :4244291900
Status :Answereg\nswered
Chosen Option : 11

Q.17 The distance between Surat and Ahmedabad is 280 km. Satish starts from Surat at 6:00 a.m. and drives in his car
towards Ahmedabad at a constant speed of 50 km/h, After two hours, he increases his speed to 60 km/ h and maintains
the spead till he reaches Ahmedabad. At what time will he reach Ahmedabad?

Ans o 1. 11:00 a.m.
& 2 10:00 a.m.
& 3 10:30 a.m.
/< 4 11:30 a.m.

Question ID :4244291888
Status :Answereg\nswered
Chosen Option : 11




Q.18 Select the correct mirror image of the given figure when a vertical mirror is placed to the right of the figure.

33| »
2

MIEROR

SP
*P

&SP
e

P
e

P
PP

Ans

Question ID :4244291897
Status :Answereg\nswered
Chosen Option : 22




Q.19 Select the option that is related to figure C in the same way as figure B is related to the figure A.

Ans

e 00
GA: | $D

on
DN

(A)

4'1.

(B)

o
@y

0
«

0o
«/

O
«/

&)

v

Question ID :4244291892
Status :Answered\nswered
Chosen Option : 11




Q.20 Three of the following four figures are alike in a certain way and one is different. Find the odd one.
s Y
O
mo
* me
a
< 0O

r P

Ml 0O
o B

nDe B
X33zlono D
lo"

II:IQ
X+|® & O
O¢ We

Question ID :4244291890
Status :Answered\nswered
Chosen Option :22

Q21 Which number will replace the question mark (?) in the following series?

21, 13, 33, 36, 67, 81, 2, 49, 102
Ans ?‘H 06

X 2 64

v 24

X 4100

Question ID :4244291884
Status :Answered\nswered
Chosen Option : 11

Q.22 Three of the following four words are alike in a certain way and one is different. Find the odd one.
e of 1. Retrench
X 2 Rejuvenate

/< % Restore
/< % Regenerate

Question ID :4244291881
Status :Answered\nswered
Chosen Option :22




Q.23 which figure will replace the question mark (?) in the following series?

® O O|l|®# O ©O||® © O| |® O ©O||® ©O O

o{:}o .{:}o i{:}o 0{30 t{:}o

o S ollo o ofle o olle e ole e e
Ans ® O O
#’T.O.
® o o
® o O
Kzo{jo
® o ®
® ® O
< o Po
® o o
® O O
2(4-0{30
® o ®

Question ID :4244291893
Status :Answered\nswered
Chosen Option : 11

Q24 Which two signs should be interchanged to make the given equation correct?

42 -+ 234+ 870 x 3 — 5 = 541
Ans 1. +and x

' 2 +and -
X 3 xand +
X 4 +and—

Question ID :4244291887
Status :Answered\nswered
Chosen Option :22




Q.25 Thuee of the following four figures are alike in a certain way and one is different. Find the odd one out.
s
X2 O: C

x: Oé

(DN
100

r 0

Question ID :4244291889
Status :Answered\nswered
Chosen Option :4

Section : Part C- Numerical Ability

an What should be subtracted from (3 $+ 4%) + E to make the mumber a whole number?
Mss 7
1 o
roY =
31

2 —

42
11

X3 =

42
17

p

42

Question ID :4244291907
Status :Answered\nswered
Chosen Option :44




. The ratio of the price of two bicycles was 7 : 8. Two years later, when ice of the first has risen by 30%

2  The ratio of the price of two bicy v hen the price of the first has risen by and the
price of the second increases by 21,500, then their prices are in the ratio 15 : 16. What is the original price of (in %) the
second bicycle?

Ans o 1. 7,031.25
X 2 8,103.25
X 3 7,013.25
X 4 8,031.25

Question ID :4244291913
Status :Answered\nswered
Chosen Option :3

Q.3 A person invested 250.000. partly at 10% and the rest at 12% per annum at simple interest. At the end of two years.
the total interest received was 211,640. How much is the first and the second part of the investment?

A& 71 29.000: 241.000
% 2 %31,000; £19,000
% 3 %20,000; 230,000
% 4 %10,000; 240,000

Question ID :4244291914
Status :Answered\nswered
Chosen Option : 11

Q4  The radii of two circles are 4 cm and 3 em. respectively. What is the diameter (in cm) of the circle having an area equal
to four times the sum of the areas of the two circles?

g X112
v 2 20
X3 24
X410

Question ID :4244291918
Status :Answered\nswered
Chosen Option :3

Q.5 Inatwo-digit number, the unit's digir exceeds its ten's digit by 4. If the product of the given number and the sum of its
digits is 370, then what is the number?

AR X6
V2 37
X326
X473

Question ID :4244291906
Status :Answered\nswered
Chosen Option :33




Q® The length and breadth of a rectangular floor are 14.35 m and 11.55 m, respectively. How many minimum number of
square tiles would be required to cover it completely?

AR 1 1353
X 2 1271
X 3 1107
X 4 1435

Question ID :4244291905
Status :Answered\nswered
Chosen Option : 1

Q.7 Aperson wravelled 120 km by steamer, 450 km by train and 60 km by horse. It took him 13 howrs 30 minutes. If the
speed of the train is 3 times that of the horse and 1.5 times that of the steamer, then what is the speed (in kmvh) of the
steamer?

Ans of 1. 40
X< 220
X 3 30
X 4 60

Question ID :4244291917
Status :Answered\nswered
Chosen Option : 11

Q.8 A person spends 75% of his monthly income. If his income increases by 50% and the expenditure increases by 8006,
then what is the percentage increase/decrease in his monthly savings?

ARg /< 1. Increase by 35%
« 2 Decrease by 40%
< 3 Increase by 25%
X % Decrease by 15%

Question ID :4244291911
Status :Answered\nswered
Chosen Option : 11

Q.9 The difference berween the selling prices with a discount of 329 and two successive disconnts of 20% and 12% is 336.
What is the marked price (in ¥) of the article?

AR a1 1250
W 2. 1,500
2 3. 2,000
2 4. 1,800

Question ID :4244291909
Status :Answereg\nswered
Chosen Option :22




Q.10 Alibrary has an average of 502 visitors on Sundays, 475 on Saturdays and 340 on weekdays. What is the average
number of visitors per day in a month of 30 days beginning with a Sunday?

Ans - X 1. 39]
X 2 362
X 3400
W 4 385

Question ID :4244291908
Status :Answered\nswered
Chosen Option : 11

Q.11 A group of men decided to do a work in 20 days, but five of them remained absent. If the rest of the group could
complete the work in 24 days, then how many men were in the original group?

ans o 1.30
X 2 35
X3 25
X 420

Question ID :4244291916
Status :Answered\nswered
Chosen Option : 11

Q.12 Rohit marks his goods at 30% above the cost price, and allows 13.5% discount. If he sells an article for 21,012.05, then
what is the cost price (in ¥) of the aticle?

M 1 000
X 2750
2 3. 1,000
< 4 800

Question ID :4244291912
Status :Answered\nswered
Chosen Option : 11

Q.13 The effective annmal rate of interest corresponding to 12% per annum payable quarterly, is (correct to two decimal
places):

Ans X 1. 13.25%
X 2 12.75%
W 3 12.55%
X 4 13.75%

Question ID :4244291915
Status :Answered\nswered
Chosen Option : 4




Q.14 A medicine-capsule is in the shape of a cylinder of diameter 0.8 cm with two hemispheres stuck to each of its ends. The

length of the entire capsule is 2 cm, What is the capacity (in em?) of the capsule? (correct to two decimal places)

(use m =?)

Ans X 1.0.91
X 2.0.75
v 3 0.87

X 4067

Question ID :4244291919
Status :Answered\nswered
Chosen Option : 11

Q15 wWhat percentage of 4.5 kg is 18 gm?
e X1 4%

v 2 0.4%

X 3 0.004%

X 4 0.04%

Question ID :4244291910
Status :Answered\nswered
Chosen Option :22

Section : Part D- Computer Proficiency
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Mns Clﬁ'Formatting

2. Forma}{ainter

3. Auto F?(fnat
4. Fill har@

Question ID :4244294291921
Status :Not Answered
Chosen Option i~
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Ans1. N?lﬁe Box

2. Cell J

3. FormWBar

4. Worka

Question ID :4244294290920
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Q3WhiticH dfieHe follondry pratotols isseddd toanafisféididsdromnenedsd st anatbehevevehthe
interngtfernet?

Ansi. IPX
2.UDP X
3.FTP off
4.7CP ¢

Question ID :4244291929
Status :Answered\nswered
Chosen Option :3

QAWNHicH ofieHe folldndrehshtmitisekey issesdd epastbeimiptipbodbotenents anav $18 word
docurdestiment?

Ans1. CWZ

2. CtrI+)p(|'
3. Ctrl+\vF
4. CtrI+C?(

Question ID :4244291923
Status :Answered\nswered
Chosen Option :3

Q.5Whittiohf ahthéoltdliningsisi ased dd deenififyeseeyy comyputer im the internet?
Ans1. Inﬁnet address

2.1P addv%s

3. Locat}@' address

4. Comp}('ér name

Question ID :4244291928
Status :Answered\nswered
Chosen Option :22

Q.6Whittichf ahthtofsliowinpis ssd dacrrette smblldiites ssbboeet tieel lireeaff tostt iim MS Word?
Ans1. SKscript

2. Superwipt
3. Undewe

4, Strikeﬁough

Question ID :42442941293925
Status :Not Answered
Chosen Option :~




Q7Whitiobf shthéoftsliwiningebrdetdulsisi esd d acssitet trasaraephim MS Word?
Ans1. CWclick on a paragraph

2. DoubWIick on a paragraph
3. Triplewck on a paragraph
4, AIt+cM on a paragraph

Question ID :4244291294926
Status :Not Answered
Chosen Option i~

Q.8Whittichfaftthédibdlimings SNOO Teamesmeill semvice provider?
Ans1. YgKoo Mail

2. Hotm?i('
3. Coolv
4, Gmaip{

Question ID :4244291927
Status :Answereghnswered
Chosen Option :33

QIWMhatiWitibehtheasstlobf dormidd=36622331naaacmllim MS Excel?

Ans1 244
2.512 X
3.124 X
46 X

Question ID :4244291922
Status :Answered\nswered
Chosen Option : 11

20077200772
Ams] . Tc'?{'fose a document, click ' in the upper right corner of the window.

2. For o@ng anew file, click on 'New' in Windows button.

3. The chut key for opening a document is Ctrl+F.

x 4. By default, MS Word document contains no pages when it is opened.

Q.10\Wicho bt thddiddiowiggsisrtraewtithatfienene édoppeiniog add iclsisig gl docomaets sniMM3 S\Wiatd
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